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INSTRUCTIONS

During the first five minutes of the examination, carefully read through the questions in this booklet.
You may begin writing during this time.

Five minutes after the start of the examination, you will be shown a video recording of a dance
performance you have studied in class. It will be shown TWICE, with a pause of 10 minutes between
screenings.

Answer any THREE of the four questions in this booklet, using this dance performance. You may refer
to parts of the dance performance that are not seen in the video recording. Write the details of the
dance performance in the box below.

Do not repeat information in your answers to different questions.

Title of the dance performance: M la 9 oS
Choreographer/dance group:)@\/i el DQ F(U}OS ‘ ROya! /Vééé “Zefia‘Oﬁ o
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QUESTION ONE: Repeated movement

How does a repeated movement support the key idea(s) in the dance performance?

Give specific examples to su?port your response.
M azgas ,
In +he dancerchore ographed by Javiec De Frutos,

he uses the repeated movement of limping to
support the key ideas of beng an outsider, Sacrfice
and pursut and Chasing. The first 4me the /:mpmg
movemen+t (5 seen (S during the consentac cucle
section. [bincers are seen with their right foot on
dermi ponte and kft oot is Flat, theiy have a hunch in
their back and have ,bo*/; honds ho/aﬁny 1heir Skirt.
The /rm,omy movement firsthy, supports the idea of
sacrifice and bemg an outsicdler The Irm,omg Shows
a sign Oof weakness ol not being hke others.
Javier connected 1he movement to be hke World War
2 whece Htler would Kill the weak ond the
pecple who aren't the same as hm. The limping
Movement Shows the audience that thy are mduﬂzd
and 5“"793"”3 )oe.ry an ovtsicder. This movement
supports the key deas Jawer wanted the
Infent of the clarce $© show becaose the
dancers are seen bem9 dFCecent and becorming
an Ouf’SleQf whch leads to fhem benhg the
sacrifise. In the single circle sechon the //mp/ng
movement (s emballeshed ono developed wito
the dancers fbf/oww:'g each other rouvnd n

a Eircle with their flghf— hand holding the
persor  infront of themmSh by Jheir Skict., This
Supports another key (dea in the dance perfdrmen,
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which s pursuY and chasmg, The mouvement

shows this (dea becgese dancers are 3seon
following each other  acound grabbing on to  each
other which wes te dOd\an_e the mpression
and  the QQQ.\\f\g of the dances chasing each
Othec Ond s&= the aBd en<e s +ry\n9 "’O (’.‘9\)1‘9
Ok WNOS gono to 80/\‘ Caugh’ro The hmp»nca
moverment suvpports the key i1deas o being an
outsider, saccifiee and pursut/chasing  through$
the way +he dancers perform the movement,
eméalhshing v making 7the auvdieace Jthink
and geshon. The auvdience seein

hmp antd _be an wouplsider wwill mode

Sketch in the space below if you want to illustrate any part of your answer to Question One.
Label the sketch(es) to explain the point(s) you are making.

the dancers
thea.

Rcond  time
HOPYO) (5 saes

P\(S\' hme hmpmg
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\
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QUESTION THREE: Production technologies

Select (v) TWO of the following production technologies to discuss in your answer below:
Ezr Costume [ ] Lighting [ Music/sound

D Set D Props

How do these two production technologies work together to create impact?
Give specific examples to support your response.

In Mllagros both the costume and mwsic

1S H\o«zgh** ovt well Yo create an impact for the
audience. Bo’rh men and women Qqre wearmg the
Same. M‘uﬂg. ﬂ"ey wear o QOvuyG metce lon9 white
egyphon coHon Skirt which Jdavier chose ¥ because

he wanted the doances to show pocyer in their legs
instead of perfect (oohol and lines. The dancers

wear 0 wh te lycra undershict @nd each dancer has

a different poriwinkle number on the back of their

shrt Yo create parahora ond Coor wilth VFhe gonces
becawse they don¥ know what number s on your Own
bact. the dancers alko wear o chfon overyﬁm‘é{‘ for |

dloc asy andl women houve thevs haw hqlF U,zom)’qo%gfd .
domn  and mon naturally styled.  The musier ik
/‘7»109(03 s frantc, shkarting of€ with Fast shtealy s
beats ond then gPQOdlng Up even mOre

N +the mddle with an vncontkolled Fempas.
In the end o©f the donce the mxnic slows
down with steady keats and soff guiet

music because o5 the sacrifce Qives vp SO
Odoes the music. Both the music ond ke

coshime  work together to create the shipped

A
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down feelino davier wonted. The Fost uncaatrolied
mus(e  with the differont numbers on the
doncers back and ski,rts Pl\/m9 everywhere
creotes an \m.oacf on Yhe -@f-aﬁe-@cs_._‘b:ﬁ
avolience wonder'ng and  Questioning  whats
going to lnapr/\, The audience hears a
franhc hvne and sees H d(ﬁ?@f‘ef\f- n(/MJoérg
and makes fhe viewers frel a bt of

(Qor ool Onx:é’fy themsole s deer:ng
what will happén in MHe eno ono Wheae
number (s the choren one- The impact +he
w27 uncontrolled mosic and ma#g%;mj v osvo/
COstunes he s Javier cornmuntcofe his oocs

Sketch in the space below if you want to illustrate any part of your answer to Question Three.
Label the sketch(es) to explain the point(s) you are making.
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QUESTION FOUR: Non-unison

How does non-unison contribute to the effectiveness of the dance performance?
Give specific examples to support your response.

Ir) the cdarce /'J//ayros, Non-uvnetson 1S seen
In the Cannon line sechon. |12 dancers are seen
n a dagonal fne from € yostage cight to

olown s}age e coirng a two coult cannon consistng
of a _swoope OC an _arm, O Spin, an uﬂpolc/ of the
leg, 5 quick steps, o quortec tun kall change with

a Swooped hand twice and then the spanech walk
mohf€. The non-varson canren contributes fo the effectiveny
OF }he dance per(b'mance in._many & wQys, one K which

Is 17 creates a clmax. The cannonline 's guick ond
frontc and s seen near the midolle of the cbrce
wWhiCh créates o peat in the darce. The peat of
the dance helps /s effechveness becavse 14 1s an
exmhng cannon which /(QQ,O.S‘ the avdence Interestec)
mrofxghow‘ the beﬁgmnfng of the dance all dancers
were CaCmg inwards exc(ud)ng the audience @nd/
darcers were domﬁ every thing at the sane time.
The carnon-line s the First ime where donces are
facing the avdierce ord ipclucing the vemers and
its the only Hme where the doncers are pectdcring
In non-unwson. This contributes to the effechvencs:
of the perpormanCe becauvse Fthe oudience roww
feels ,ncloded and involved but then poOSQ
gueshons of why the Oonces om 7 t/dmcvnj
J-o9e{he€‘ oynore ano why theg dance
excluded fhe auvdence at the Start. These
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q/ueshms are  what Jauvier wanled Lthe auvdience
110 thinl abcout whils+ wQJC/w"Tg ‘H’re donce
pQrf@rmanc e to |keep Qng o 500{ and  Woen Adorirs.

Sketch in the space below if you want to illustrate any part of your answer to Question Four.
Label the sketch(es) to explain the point(s) you are making.
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auesnon Write the question number(s) if applicable.

0>

12

Extra space if required.

thnk abouk o hme wrere Hwey have
ever felt alone ond dif€erend an?
make them €eo| empathy Foc +the obnces.

thareo grophic  (intenhion kecavse he  wanted
Yhe auol 1ence (Pose (LUQShov\S anol  Feol
uHer 1\7/ confusod  wheeh 1s exactly the fm/oao/
he male. dJavier also wanted *+o not loke
away fromn the C’wofeogrophy So mQofe

e costume a~d mousc %}erQd down
ond woré& ,l@yc/}oa/ to ckll noie an
,m,oao/ pbs/ry ;befl(ons 1004‘ nO{‘ tok ¢
waOly Qrom whot the Olocers (ere

‘p«eﬁﬁb/m/ng
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Merit

Subject: Dance
Standard: 91211
Total score: 16
Grade
Q Marker commentary
score
The candidate has explained how and why the repeated limping relates to the
key ideas of being an outsider, sacrifice, pursuit, and chasing.
One M6
To achieve at E7, the candidate would need to more closely analyse one of
these key ideas and place it in the context of the intention for the dance.
The candidate has explained how the costume and the music created a
stripped-down feeling.
Three M5
To reach M6, the candidate would need to provide a specific example of
when this occurred in the dance and how it created the effect.
The candidate explained how non-unison contributes to the effectiveness of
the dance by providing contrast.
Four M5

To gain M6, the candidate would need to provide clearer reasons as to why
they think the choreographer created this contrast at this point in the dance.
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